Pre HL Ch 11 and CH 9 IB Questions							Name:____________________
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By mathematical induction, prove  for .
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By mathematical induction, prove that  is divisible by 5 for all integers n, .
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‘The cost of laying the cable along the sea bed is USSS0 per metre, and the cost of
laying it on land is USS20 per metre.

(4) Find, in terms of x, an expression for the cost of laying the cable.




image8.png
In the triangle ABC. ABC =90°, AC=+2 and AB=BC+1.
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Show that cos 4—sin A=—1__

2

By squaring both sides of the equation in part (a). solve the equation to find the
angles in the triangle.

Apply Pythagoras® theorem in the triangle ABC to find BC. and hence show that
V62
PR

sind=

Hence, or otherwise, calculate the length of the perpendicular from B to [AC].
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Given AABC. with lengths shown in the diagram below. find the length of the
line segment [CD].

diagram not to
scale
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The logo, for a company that makes chocolate, is a sector of a circle of radius 2cm, shown
as shaded in the diagram. The area of the logo is 3mem’.

diagram not to scale

)

(a) Find, in radians, the value of the angle 6, as indicated on the diagram.

(b)  Find the total length of the perimeter of the logo.
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Atriangle ABC has 4 = 50", AB=7cm and BC = 6em. Find the area of the triangle given
that it is smaller than 10cm’.
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Prove. by mathematical induction, that 7"+ 2. n € N. is divisible by 5.
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A rectangle is drawn around a sector of a circle as shown. If the angle of the sector
is 1 radian and the area of the sector is 7cm?, find the dimensions of the rectangle,
giving your answers to the nearest millimetre.
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